(N=5,391)

(N=1,351)

(N=1,334)

(N=1,400)

(N=1,235)

(N=5,391)

(N=1,351)

(N=1,334)

(N=1,400)

(N=1,235)

83.4

VoK
938 47l 07
04
ZZ
95.6 3%0.1
5/9'3 7
96.9 28401 .
T’
94.1 49| 0.2 I:l
//1.9
904 731104
0 20 40 60 80 100( )
96.9
81.0
823
80.2 %
80.2 L]
834
T T T T
o) 20 40 60




- U
(N=187) 610 %/ % 00
]
- 7
(N=3,009) 796 0.2 O
~ .\
(N=2,033) 857 0,8&3‘3 °2 | @
O
(N=94) 89.4 64 .43 00
/O‘O
(N=26) 84.6 1547
0.0
0 20 40 60 80 100 ( )
50 89.4
20 61.0
N=5,391 I
%
409 o
O
0 20 O
53.5
40.9 94.4
(N=4,368) 96.9
Ol
_ 84.0
(N=750) O
L]
(N=234) /82
0 20 40 60

96.9

78.2

4.7




(N=5,391) 462 | w ol
(N=1351) 529 0_7 5
(N=1.334) 405 | =2
(N-1.235) 372 oo

—T

52.3
39.2 33.7











